C3-1 HEERHEHB IR ()
IR B R 1 £2 108 S22 A2 F T8 cER

(e S PUELTIPREL
R | CEGEE | ERER | JUERER
SEI/FLE e | e | bE | ey | e | ey
S AR 5 5
Yigh 3 3
2 4 4
g fE 1 1
HrFH 1 1
YNGS 1 1
HAARIE 4 3 3
H 1k 0 0
| 35 HiBRF 2 0 0
E | B | gl = 1 1
e fiok e 1 1
2% BT 1 1
R RRE GeRHE 1 1
ESERHY 1 1
EER R 1 1
HH 1 1
R 1 1
(REFIBeE (E 1 1
e 5 2 2
RIS SE AT BA) | 29 29 29 29 29 29
B | Gl TR/ R GRE | 2 2
B dmEEs e 1 1
al | B R AR R B 0 0
ok | H AR 1 1
2| 8% o e s 1 < R AL BT ST . 3-6 3-6 3-6 3-6 3-6 3-6
f | BRSPS REGRE) — y
FREEETEEEN | ERANFREIAAERS | 32-35 | 32-35 | 32-35 | 32-35 | 32-35 | 32-35
(A+B) S AENE 33 33

5

L BB - S4B SRR 2 -

2. DL 108 ERAE A (R T A U SRR R B S T D -
iz 108 SHERE A SRR UL -




C3-1 ZAEREFERIACR (=FHH)

ZEFMHIIRNERFE 107 B4 A EEBHEE LR
P B FUUER BN L
R TEH JEEER TR
SEI/ R H E0E 44 B E0E 4
BE ENEES 5 5
gk 3 4
e 4 4
N Ji& sk 1 2
eI 1 1
YNGN 1 1
B ETERME ATERME 1 1
e £ = 1 1
8 iy 1 1
FEER T 1 1
GEETEE] R 1 1
HEH 1 1
i 25 1 1
(RFRELRS S (@EE 1 1
=] 2 2
ELR B RIS A AR (A) 28 30
_ e 1 1
gg 1= 1 1
B el ! L
M s S 1 !
L 1 0
A K - S R
=E= T EEB I R
EE 54 TR TR SR SRR RAE 1 1
[ Jsrsmamsias H AR
B B L BB (B) = =
EEE AR | PRYTRR EAEETE 32-35 33-35
(A+B) EE R PR AR 33 35

1. HEEI - BB SRR 2
2. DL108 SBEFGEEIATRIEHE L F R E IR R EA AR B2 E BT -
i 107 ERFE ASRREES /\ B LELR -
3. BHESEMEEEEE Y o \EIJVFERIRIE AT AL E R E SO R A AR s AR e PSR S SRy o3 T - AR
fgé%ﬁuﬁ%ﬁ%ﬁﬁ%éﬁﬁ%ﬁ > RRIIETR SRR S BCE2 E 0 H - W R UE M EL - AHRIE L — E SR M B ok
= o



C3-1 BFREBFEHB LR =)

e HIUEE LR
LR TUELR
SEIR/RLE iy
55 KBE 5
Hsh 4
e 4
e BT 2
B 1
NS 1
sy |EAE EZ 3
sy | CBRHE  AERHY 1
gy | T o 1
R 1
Sl 1
GENEE R 1
B 1
i 1
IS (R 1
B 2
L B VR R A 30
e 1
e E 1
=8 e 1
BiEL o
M e s ki !
JiiE 0
B S I R R R TR
£ B E S LR B
i TR SRR 0
[ Jrmanemsis HAERRE
R SR M S B =
R | SR R 33.35
(A+B) R VAR 34

1. eEI - BRI U —RR IS 23R -
2. DL 108 S RIGIERIH AT L AR E TV R B SE ARSI B B2 E G -
i 106 E2EEFE A EHEET FLEAR AN A -
3. SHESEMEERREREET Y - TUFESRIRIE AT A B L B AR s s R AR AR e PSR M B



C3-1 HAEREREHB IR ()
BTG » ARZ AR A SR SRR SR A AR A » RIMIPO SR s R =5y B B R g 0 Ry S LB AR
AMRIF LA —E R MR B2 P =



